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1. fh el @ Rt (W) A a-wR W 6. Th1 # TE-I F Wy gk B sk

g1l foreeht ufefa =1 Geha sar &7 gt % R Ry 7T g2 w1 @ W g W
(@) Torel weaTY] % Sfet geeg LT
(b) TE TEATY & IR WA
-1 eh-1
(d) U % guEns
A. 9 I 1. gfoeh (YRafRs)
2. T H HH-T1 JH GHNIRE YT e 27 B. fufds s 2. G IfREH (FS
(@ lH ¥ 3H frdfea)
®) 'H R 2H C. ifiem Tegirass 3. wfu-erw (W)
D. Ui 3 4. 3R (e
) e ( )
(d) j9Ar 3 20ca %e :
)8 OB -S40 B
3. fr=fafea & @ #F-d teafe afufsn dve 1 2 3 o8
& 27
(@) Fe+CuSO, — FeSO,4 +Cu () ? ? :(2: 4D
(b) Zn+CuSO, — ZnSO, +Cu
() Cu+PbCl, —CuCl, +Pb £l A B C D
(d) Mg+CuSO, — MgS0, +Cu e B s
4. YA & UK pH I foer=m dran @ (d) 2 123 ;2 113
(a) s g foem=
(b) It el oA
(c) Foa =it T 7. @ q@l = 98 o, Rl wh @ e (7=)
(d) e faeEm Feifa & ?, 98 § @i #1/6
5. AFa JmRE #, F=afafaa § @ 99-w o (@) 3R
I BT 27
(@) I 3 (b) A
(b) ch[tmm () sl
(c) TEEH T
(d) TRSEING 3 (d) g
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1. Scattering of o-particles by a thin gold
foil suggests the presence of

(@)
(b)
(c)

(d)

electron in an atom
proton in an atom

positively charged nucleus at the
centre of an atom

isotopes of gold

2. The elements of which of the following
pairs are isobars?

(@)
(b)
(c)
(d)

1 3
1H and 1H
1 2
1H and 1H
12 14
6C and 6C

40 40
18 Ar and 20Ca

3. Which one of the following chemical
reactions is not feasible?

(@)
(b)
(c)
(d)

Fe + CuSO, — FeSO, + Cu
Zn +CuSO4 — ZnS0O4 + Cu
Cu + PbCl, — CuCl, + Pb
Mg + CuSO, — MgS0, + Cu

4. A solution having pH equal to zero is
known as

(@)
(b)
()
(@)

highly alkaline solution
highly acidic solution
weakly acidic solution

neutral solution

5. Which one of the following acids is
produced in human stomach?

(@)
(b)
(c)
(@)

Formic acid
Sulphuric acid
Nitric acid

Hydrochloric acid
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6. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Compound) (Use)
A. Boric acid 1. Antiseptic
B. Citric acid 2. Food
preservative

C. Magnesium 3. Antacid

hydroxide
D. Acetic acid 4. Pickle
Code :

w)

(@ A B C
1 2 3 4

A B8
W At

(@)

TR s T

A B

7. The property of the sound waves that
determines the pitch of the sound is its

(a) frequency
(b) amplitude
(c) wavelength

(d) intensity

[ P.T.O.




8. fmfaflga # @ F-w = o X-foRont 1 7 12. F=fafaa § ¥ fra yor & fafmo @ aoesd

?? A Bl 87
(a) aﬁ@ﬁ@ﬁéﬁﬁﬁﬁﬁﬁﬁl (a) e a
(b) A gk &t A fadfa wd A 7 (b) T THR
() 33 () § Th I s v (c) FETH[SHRE (5o ARo)
(3=) Bt B (d) TR /SFegEERR (Fo Ho)
(d) T FE R ger § R qoes aga
%1 (BF1) BT B 13. T A (fB) & o« foRi® kil 361 ?
(@ N-m (b) N/m

9. T GHAW <YV NI sAIC 7Y Yfafers & =W H,
Frfafaa & @ eF-a1 © w7l 27

(a) 3T THR TE Tl ® SN TERT-TE H 14. Fr=fafaa #§ @ F9-91 w6 qemd (dHme 1)

() N-m? (d N/m?

Bl 2 & 87
(b) J& W ¥4 § Fowta (SfaeiHa/ (@) BT (FierT)
Ice) gl B (b) wATE
(c) 97 arafae wfafsra dar R (c) =%
(d) T& 790 % 8 H AR I A/ gh W (@) e (veiue)
a1 @ Rt | a%g 9o F 5 Ed
& 15. Preffeaa 3 A frg wmof (she) 1 zea Bed
(sh-= &) B 7
1o.%ﬁM(ﬁﬁW)ﬁaﬁwaﬁmr@wﬁ (@) R
’ (b) HAH (W)

(@) TH-FR % FHMIR

@ T

(b) TH-GW % T=aq :

(c) TH-E % WY 60° F1 H TR §T (d) wE (T i)

o e e ot b 16, T § A ¥ A wd W
s P 3 2 - A 47

11. 3R 3 F e i 7 (I@) 3x108 m/s (@ W (FEPRE), sy S, W,

R, @ o Y wew fww s S R, # friem (I, T faeE
ehr1 <hi wTft = g (b) O F T, N, W, R, g
(@ 2x108 m/s 1 fassm
(b) 2x10% m/s (c) T, =R, gEEs o fassE, yo @
(c) 2x108 m/s e

(d) NG, YO F T, FJES H &AIEA,
(d) 3x10% m/s T, e
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8. Which one of the following is not a
property of the X-rays?

(a) They are deflected by electric fields.

(b) They are not deflected by magnetic
fields.

(c) They have high penetration length
in matter.

(d) Their wavelength is much smaller

than that of visible light.

9. Which one of the following is not true
about the image formed by a plane
mirror?

(a) Itis of the same size as the subject.

(b) 1t is laterally inverted.

(c) 1t is real image.

(d) 1t is formed as far behind the

mirror as the object is in front.

10. In a periscope, the two plane mirrors

are kept

(a) parallel to each other

(b) perpendicular to each other

(c) atan angle of 60° with each other

(d) at an angle of 45° with each other

11. If the speed of light in air is 3x 10% m/s,

then the speed of light in a medium of
refractive index 3 is

2
(@ 2x10% m/s
(b)) 2x10% m/s

(c) 2x10% m/s

(d 3x108 m/s
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12. Which one of the following types of
radiation has the shortest wavelength?

(a) Radio waves
(b) Visible light
(c) Infrared (IR)
(d) Ultraviolet (UV)

13. The unit of the force constant k of a

spring is
(a) N-m (b) N/m
(c) N-m? (d) N/m?

14. Which one of the following is not an
epidemic disease?

(a) Cholera
(b) Malaria
(c) Smallpox
(d) Elephantiasis
15. Which one of the following animals has a
three-chambered heart?
(a) Scoliodon
(b) Salamander
(c) Pigeon
(d) Human being

16. Which one of the following is the correct
sequence of events during sexual
reproduction in plants?

(a) Seedling, formation of embryo,
pollination, fertilization, division of
zygote

(b) Formation of embryo, seedling,
pollination, fertilization, division of
zygote

(c) Pollination, fertilization, division of
zygote, formation of embryo,
seedling

(d) Seedling, formation of embryo,
division of zygote, pollination,
fertilization

[ P.T.O.



17. 5@ T e, S o wm o @, A g @ 21. G-I 1 -1 % @y gafem Hifg @ik

%% w9t R (R ¥ TN W@W), 9@ I w it ¥ 9 Ry T g2 1w R g W
et gl (feehl) & s @) Y feeeh gfe :
Iufefe & ror Bren 27
(@) SieETq -1 -1
. (7m) (")
(b) SATFHISH
€ A. TS 9o (i 1. NaHCO,4
(c) e SEATHATES 1)
(d) FTEH AT B. @R % Wl (31 2. Na,CO,-10H,0
Hren)
18. wifvh wiwsh & fou e gm (T C. & % @@l (1M 3. Ca(OH),
widh)’ Fraferfea § & 60 g §7 e
(@) TS D. ¥ g M (WFe 4. CaOCl,
(b) To Fo do s
(c) To o Hio He :
(d) dIgEaS® 3T @ A8 C.7'p
£ 519 753
19. U=H-83 ¥ WISH % @y fiem aen ggen o i S R L
Tgd FrefoRaa # @ Sw-w 27 GRS B
e o) AU IRE BT
& 346 G ut o4
o (P A By D
(c) Ui o g
(d) e
22. fFeed M & T SR oo & T A F
20. wETE T F T 9, St AR e guH | §e U S F A hi wew et
) T wgE e ¥, B a g b &7
(@) e (<ier) (@ 2
(b) Wifeaw FRES (b) 4
(c) TR () 5
(d) Tegfiam [d 6
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17. When air is blown from mouth into a 21. Match List-I with List-II and select the
test tube containing limewater, the correct answer using the code given
limewater turns milky. This is due to below the Lists :
the presence of

(a) water vapour List-I List-II
(Name) (Formula)
(b) oxygen
g L A. Bleaching powder 1. NaHCOj,
(c) carbon dioxide
B. Baki d 2. Na,CO5:10H,O
(d) carbon monoxide e a2-Y3 .
C. Washing soda 3. Ca(OH),
18. Which one of the following is the ‘energy D Slikecd fions 4. caoOCl,
currency’ for cellular processes?
Gl
(a) ucose Cidtes
(b) ATP
(c) ADP fa) A B 0D
4 1 2 3
(d) Pyruvic acid
(b) A B C D
19. Which one of the following is the 4 2 1 3
first enzyme to mix with food in the
digestive tract? (c) A B C D
: 3 2 1 4
(a) Trypsin
(b) Cellulose 3 A B C B
3 1 2 4
(c) Pepsin

(d) Amylase
22. The number of water molecules
associated with copper sulphate

20. Mahatma Gandhi’s Dandi March, a great ;
molecule to form crystals is

event in Indian freedom struggle, was
associated with

(@ 2
(@) iron
(b) sodium chloride (b) 4
(c) sulphur © 5
(d) aluminium e
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23. =i F IFgE T H Gl WA W FB I9Y 91

el B T | E1 gl B 8, i

(@) =i &1 A qar § IR e
JATHATES &4 STl &

(b) T ¥ THYHE HEA SEAFERS F ™A
ifsifr w afd), feRr FEHe s
?

(c) T H GeH & A1y Affhar e =i,
T wewrgs & T wa (Fife) sAh
?

(d) &1 W g HTaEEe % Wiy AR

24. If% wh yonel (Frepma/Reen) =1 qome Hfeas

A xBau °C ¥ y B, O 37 o= 6 ey ?
(@) x =278~y
b) x=273+y
e x=173+y
(d x=173-y

25. Tl varel i uRkaew p fr w0 (3fe) §

HfVeaeh sl < wehdt 87
(a) ohm

(b) ohm/cm

(c) .ohm-cm

(d) ohm-cm?

26. foRE-gedim o, st e @R (e

FHf) % fog wgw A st E, @
(@) 3 Tafertor

(b) TSI e

(c) e ad

(d) <8 TRR
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27. 999 WR A qF TwE F TW F dAA I

(R I o7 w1 wdt Igen Frefafea § @
HI-41 27

(@) F& (TRT), Tefef, o, g
(b) T, T, TG, T
(c) e, TSR, T, AT
(d) VAR, JoB, AT, ST

28. 7y ¥ frafafee & @ S9-d@ haEh

(UStst) ufy, gm (ShS) & &9 & & wrft
et 87

(@) e ()
(b) Ty (freged)
(c) T (2fw)

(d) JrEEE ()

29, T=fafes & 4 o/ =R e @

o TWo Yo &ran 87

(@) Tiesht TR (Tesh TRH)

(b) WIERHIEIA

(c) wTEERm

(d) s e (TEeiees Hewge™)

30. ¥ A fra Amfe 3 Rk g &

TRR& (FRERSITH) Y FeheuAT Segd hI?
(@) TEHE SR

(b) T w=

(c) T gH

(d) I SifEE




23. Silver articles become black after some
time when exposed to air because

(a) silver gets oxidized to silver oxide

(b) silver reacts with moist carbon
dioxide in the air to form silver
carbonate

(c) silver reacts with sulphur in the air
to form a coating of silver sulphide

(d) silver reacts with nitrogen oxides in
the air to form silver nitrate

24. If x is the temperature of a system in
Kelvin and y is the temperature of the
system in °C, then the correct relation
between them is

(@ x=273-y
(b) x=273+y
(c) x=173+y
{d) x=178-y
25. The resistivity p of a material may be
expressed in units of
(a) ohm
(b) ohm/cm
(c) ohm-cm

(d) ohm-cm?

26. The electromagnetic waves, which are
used for satellite communication, are

(a) infrared radiations
(b) ultraviolet radiations
(c) radio waves

(d) visible lights
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27. Which one of the fbllowing is the correct
sequence of organs that occur in the
path of urine flow in human body?

(a) Kidney, ureter, urinary bladder,

urethra
»

(b) Kidney, urinary bladder, ureter,
urethra

(c) Kidney, ureter, urethra, urinary
bladder

(d) Urinary bladder, kidney, urethra,
ureter

28. Which of the following endocrine glands
is not found in pair in humans?

(a) Adrenal
(b) Pituitary
(c) Testis
(d) Ovary
29. Which one of the following cell organelles
contains DNA?
(a) Golgi apparatus
(b) Mitochondrion
(c) Lysosome

(d) Endoplasmic reticulum

30. Who among the following scientists
introduced the concept of immunization
to the medical world?

(a) Edward Jenner
(b) Robert Koch
(c) Robert Hooke

(d) Carl Linnaeus

[ P.T.O.



31. Fefiflgs # @ frm wdw @R #
31 femwar, 1929 % & i s A =won
I TS ofi?
(a) ITEHRTER
(b) T

(c) TR

(d) TGS

32. fafafaa # @ fora afufem & 9gq faumseal
T gigenedt & fog €2 smfim i 1€, s faftm
TERT & fore el & atmeie & argey off?

(@) RG GEHR Afuf=m, 1858
(b) W uftwg rfufm, 1909
(c) ¥Ra @R AfufEm, 1919

(d) ¥R §&R A=, 1935

33. 99 1931 # 9 | g Raw wRd fera =
g ged (3a sfem e e <fied
HiewE) R Frefeifas § @ -4 1in wh
TS ofi?

(@) GRS T HATRHR
(b) rgal & for srem Fatam-am
(c) IeqEETsH & Ty Rfdm die

(d) ¥RA ¥ T Uk (THHH) T
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34. T ¥ B 3feT AEEA HiE Atz A€ *

FEn § ¥ T 77
(@) TR SR
(b) TS TR
(c) THMAIY SR

(d) <fFm 9% T

35. ¥ ¥ T goam ¥ gal-v-feerm it @

(FFFq) A e 3R fomm wa # oof w9 9
Hheral gt hi?

(@) Igatms
(b) A
(c) IRER Raesh

(d) Ee fom gae

36. 3 ¥ fFu e Ja1/FHTet ¥ TRA W SATHAY

F & forg Ry 7t ar 7 e
(@ =S @H

(b) R TG

(c) g8

(d) FIIT TSI




31. On 31st December, 1929, in which one
of the following Congress Sessions was
proclamation of Purna Swaraj made?
(a) Ahmedabad
(b) Calcutta

(c) Lahore

(d) Lucknow
32. Which one of the following Acts reserved
seats for women in Legislatures in

accordance with the allocation of seats
for different communities?

(a) The Government of India Act, 1858
(b) The Indian Councils Act, 1909
(c) The Government of India Act, 1919
(d) The Government of India Act, 1935
33. Which one among the following was
demanded by the All India Depressed
Classes Leaders’ Conference at Bombay
in 19317

(a) Universal adult suffrage

(b) Separate electorates for
untouchables

(c) Reserved seats for the minorities

(d) A unitary State in India
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34. Who among the following was one of the
founders of the
Oriental Art?

Indian Society of

(a¢) Rabindranath Tagore
(b) Abanindranath Tagore
(c) Dwarakanath Tagore
: (d) Bankim Chandra Chattopadhyaya
35. Who among the following Sultans
succeeded in finally breaking and

destroying the power
Chihalgani?

of Turkan-i-

(@) Iltutmish

(b) Balban

(¢) Alauddin Khalji

(d) Muhammad bin Tughluq
36. Who

leaders/commanders
Indus to attack India?

following Mongol
did not cross

among the

(a) Chenghiz Khan

(b) Tair Bahadur

(c) Abdullah

(d) Qutlugh Khwaja

[ P.T.O.




37. W wEs % o w2 ¥ o & wha @

AA Tl I R B G B FT FE T
7

(@) firga

() «

(c) fiae ga (<fisr)
(@) fea semem (scferd)

38. fift senfe gega: =l o€ st 27

(@) =AM IR FEr
(b) STEUTEA YT

(c) -

(d) R gt

39. WA % &7 #, Frafafad # A few wdm w1

H TH T 3 GAR (9 Qe ¥ aedy)’
ETAS I

(@) 3EH
(b) ufdm sme
(c) HAH

(d) TSEIH

40. Fim s % vR 3 8 & Sl i v =

1 HEI STl 87

(@) PN =TT

(b) IHOT T

(c) TRfFaTTH (Refmeiiere) svea
(d) s g
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41, fafafaa & @ - T DY e T F
et 27

(@) <=
(b) |H
(c) e
(d)

42. fFrefafaa & @ F9-w1 & g FR 1 v
€t 27

(@) <70 Fl

(b) S Wt (A i)
(c) RIEH Yo (WgHTE)
(@) e frafe S

43. Fr=fafead & ¥ ¥F-w1 & yi-swm o T
77

(@) = 4

(b) =TETTE A

(c) 9 (i f)
(d) F® (SR) IR =aef yfy

44. TN (MGNREGA) 1 3w f=fafag o §
HH-|1 T T R7

(@ T foxim a8 § 100 Al o =1 Fva
9 WG HEAT

(b) A REafEt &1 gem (Fafor)
(c) Shifasm ffsma # sgm
(d) wieen anfrentr ) gRfda s
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37. In the region of eastern shore of Adriatic
Sea, a cold and dry wind blowing down
from the mountain is known as

(a) Mistral
(b) Bora
(c) Bise

(d) Blizzard

38. Nyishi tribe is found mainly in
(a) Andaman and Nicobar
(b) Arunachal Pradesh
(c) Nilgiri-Kerala

(d) Kashmir Valley

39. In the field of tourism, which one of the
following Indian States is described as
‘One State Many Worlds’?

() Assam
(b) West Bengal
(c) Karnataka
(d) Rajasthan
40. The number of people per unit area of
arable land is termed as
(a) agricultural density
(b) arithmetic density
(c) physiological density

(d) economic density

PLKI-S-GNL/58A
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~ 41. Which one of the following rivers joins
Ganga directly?

(a) Chambal

(b) Son
(c) Betwa
(d) Ken

42. Which one of the following is not a type
of commercial agriculture?

(a) Dairy farming

(b) Grain farming

(c) Livestock ranching

(d) Intensive subsistence agriculture
43. Which one of the following is not a land

use category?

(a) Forestland

(b) Pasture land

(c) Marginal land

(d) Barren and wasteland

44. Which one of the following is not an
objective of the MGNREGA?

(a) Providing up to 100 days of skilled
labour in a financial year

(b) Creation of productive assets
(c) Enhancing livelihood security

(d) Ensuring empowerment to women

[ P.T.O.




45. U=Fdl 6 FEYT * g9y §, FEfafga 7@ 48. Y, S YRd WHR A TH G g,

HI-91 HUT e TR 27 f=faRaa @ @ frm &9 @ dafia 27
EEIDG| Eﬁ, <hl, i ED| .
o e e - ok yipiha 0 T N ) Do W e
8l (b) Tw TR W s TR ¥ R s
(b) TH ARE S 25 ¥ 1 B T R}, T U YeH HET
Y9 1 G2 s & fog 9= gy
(c) Wesh GuTEd e Teeh o (W) R fo)ie s e SR E IR, (RN )< 1
fofsr & gmrgaa o= a6l 9% S w®W g
Hehell B

(d) WTET YOTEeT I ekl
(d) & U=Ed S EmiiE faged ¥ W©

gifed ST 8, 98 qUi Gty % Had

I e T S T el 2 49, YU THFM (FavE) o v FAfafaa @ @
fras wftge wwEl ¥ U F @R el
46. YRd TR T 9@ RY ¥ =@E 718 A gyfaRor Y 18T T -7
Frafafaa & @ aF-d &7
(@) dFeaTd e S (a) T e
(b) WUHHA UH USH AT (b) AW (Faq) Sifes ¥guH (POPs)

(c) WiHEE e U AT
(c) T (IRT)
(d) I INMA™ AT FIeTed FisT
(d) oA AR dgwameht (Shammes)
47. G463 9 WA &9 9™ IS (MPLADS)
% fowg § Fafafga & @ -1 0= @

T 7 50. WA # wAfeensdl ¥ WawA (SUFIRT) F BN
(@) @ IISHT % dEd HET H T T W, (afea 87 #1 @@ yg@ wror PR 3§ 4
FrEifaa IR gof o §1 -1 87
(b) §E& % FAMIG Hew W F wE off (@) AR
Fraffad fhy S % forg wml A dggl
T &1 (b) T
(c) T ASH A TR R iaan Fiftesg
2 (c) Toame
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45. Which one of the following statements

with regard to the functioning of the

Panchayats is not correct?

(a) Panchayats may levy, collect and
appropriate taxes, duties, tolls, etc.

(b) A person who has attained the age
of 25 years will be eligible to be a
member of a Panchayat.

(c) Every Panchayat shall ordinarily
continue for five years from the
date of its first meeting.

(d) A Panchayat reconstituted after
premature dissolution shall
continue only for the remainder of
the full period.

46. Which one of the following is the earliest

launched scheme of the Government
of India?

(a) Deendayal Antyodaya Yojana

(b) Pradhan Gram Sadak
Yojana

Mantri

(c) Saansad Adarsh Gram Yojana

(d) Deendayal Upadhyaya Grameen
Kaushalya Yojana

47. Which of the following statements is not

correct regarding the Members of

Parliament Local Area Development

Scheme (MPLADS)?

(@) Members of the Parliament (MPs)
sanction, execute and complete
works under the scheme.

(b) Nominated Members of the
Parliament can recommend works
for implementation anywhere in the
country.

(c) The scheme is fully funded by the
Government of India.

(d) The annual entitlement per MP is
¥ 5 crere.
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a Government of India
relates to which of the
following areas?

Saubhagya,
Scheme,

(a) Achieving wuniversal household

electrification

(b) Providing clean cooking fuel to
poor households

(c) Rationalizing subsidies on LPG

(d) Stopping female foeticide

The Basel Convention’ is aimed at
health and
environment against adverse effects of
which of the following?

protecting human

(a) Hazardous wastes

(b) Persistent Organic Pollutants
(POPs)
(c) Mercury

(d) Chemicals and pesticides

50. Which one of the following is the biggest

cause of incidence of migration of
female persons in India?

(¢) Employment
(b) Education
(c) Marriage

(d) Business
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51. W & (V) & s ¥, F=fafaa & @ $=-w

T HEl e 7

(@) I8 FAcUEY O (HEERE WH) W
A dF (VA S%) T IR <A
&

() I8 IJCIENY FUREU [N TR
(3umdt)] R anforfSuss St gRT g i
RISkied

(c) a8 frdll aTfoifurs 5% R s o &
o9 o wfoe § weHd < R R

(@) F& wuiide wiogfa (Regfedt) 6 @mma
(@) 21

52. %d fed aigum (%w ford M) fFa f~ids

T B7

(@ TEa (F2) @i R el IFerial
(SFarstt) 1 3w St W qREdt % w9
F et 1 sk T (FHTET) Bl ©

(b) Taa #in iR aftes TEEl = 3w
St 3Ro o 3AZo F I AN (W) F
w9 3 el I Vo W@ BT B

(c) Taa #wfm iR mafys TEifEl w1 3w
S Sl I I el o & R % w9
H ek AT el B

(d) T4l aif@ i &1 S F Red & 9y
FgaTd

53. v A, I fret s & u Y, Hafeg @
TS ® aAT SF1 AT F WY 45° H B0
A ® 3R I TEn R mn R R W@ %
HY-H1Y (FHIR) X =Y 8, O 3hid &9 @
w1 7 form T RY
(@) < TRE (SR) & & &
(b) <A1 aREd THEEH 3 (gRe) § #)
(c) < afEdi yem-em (Re) sereal &

gl

(d) FH-8-%H TH giEdl TF Y& T B

PLKI-S-GNL/S58A

54

55.

56.

57.

FH Fedla FaE, 2019 H AN GE
el g T @ e gen?

(a) ToriERm A
(b) aRi@ am fe
(c) Toame o
(d) <t

framr 2019 ¥, f=fafaa § 4 fra o 29«
HOA A 9~ w1 Tanfern Nifva feran?

(@) i

(b) Hia| Ts fra

(c) THo 3o Fo Hio
(d) I8 FH

U1 g, T foReiR waiano wfsmgaEd s g«
A A gaEr # off, wal i @ g 27

(@) e
(b) A
(c) '!Lo THo To

(d) HTET

T A IR ford 9% 1, YReTa § B: AR
i sty & fog, Frafafea & @ forg 5% &
QAR R G H e v s m w
yfeey e 87

(@) TEHSS

(b) G o

(c) USTe T HERTY HiATRIE Sk
(d) WY e I




51. Which one of the following is not correct
about Repo rate?

(a) Itis the interest rate charged by the
Central Bank on overnight loan.

(b) It is the interest rate paid by the
commercial banks on overnight
borrowing.

(c) It is the interest rate agreed upon
in the loan contract between a
commercial bank and the Central
Bank.

(d) Itis the cost of collateral security.

52. The Cash Reserve Ratio refers to

(a) the share of Net Demand and Time
Liabilities that banks have to hold
as liquid assets

(b) the share of Net Demand and Time
Liabilities that banks have to hold
as balances with the RBI

(c) the share of Net Demand and Time
Liabilities that banks have to hold
as part of their cash reserves

(d) the ratio of cash holding to reserves
of banks

53. In economics, if a diagram has a line
passing through the origin and has
45° angle with either axis and it is
asserted that along the line X =Y, what
is tacitly assumed?

(a) Both variables are pure numbers.
(b) Both variables are in the same unit.

(c) Both variables are in different
units.

(d) At least one variable is a pure
number.
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54. Who among the following won the Best
Men’s Player Award of FIFA Football
Awards, 2019?

(@) Cristiano Ronaldo
(b) Virgil van Dijk
(c) Lionel Messi

(d) Xavi

55. In September 2019, which one of the
following travel giants declared itself
bankrupt?

() Expedia

(b) Cox & Kings
(c) SOTC

(d) Thomas Cook

56. Greta Thunberg, a teenaged environment
activist who was in news recently,
hails from

(a) Sweden

(b) Germany
(c) USA
(d) Canada

57. Recently the Reserve Bank of India
has imposed limitations, initially for
a period of six months, on the
withdrawal of amount by account
holders of which one of the following
banks?

(a) Indusind Bank
(b) Dhanlaxmi Bank

(c) Punjab and Maharashtra
Cooperative Bank

(d) South Indian Bank
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58. Ify w=A A T & § wlafdd @ WRe 61. F=ffaa & & ®F-w1 = 3w wd gafea &

Wik QR oM foRan ) w9 @ e 97 ??
REHR T T I A7
(a) HEHT-T : gudelt SR s
(@) TS FY
(c) EIETS W (c) TAHZ ;Y W
i (d) rRTHA : TUH g

59. witg gt fa=, e sEifR =) awifae (awe)

TS WM SFeald 1 7T @ g q9ian & B, 62. Prafifan # ¥ F-3 wEs AAET (W@ F

T ¥ form g fosreer g/ s@ R TR ot W @ i T g ) @ TeEn W@ 37
(@) =< AcI-UHS
(@) % TG
(b) AL 7EA
(©) < (b) Tufsen & frz
(@) e ) @
60. ‘TTa AAEE yumed (wem) % WR #, FrafaRaa LN
F ¥ H-7 HoF T 7
1. ‘m’mmw(u’ﬁa)ﬁ 63 ‘_q‘_aa'a’%m %aﬁﬁ X
e e 3 B SRIC] , Fafafea A
i feufd 3R 38 A =1 g o1 ¥ Do W
2. ‘HaR Y9G YSHAR ! IW €& T YIh
o1 S| FAEEER F WA B ) : (@) T® TH RIS qoae () @ < am
3. wiEdl TR # 1000 S W % aR-fomt 1 wfcferars @ sie ftrerdt
T T WA W@ A R ®) eI 1 e F B
(ERONES AP0 Sty By ) T wa-ReE # e B
TS & S i fogm ¥ v i #
R fog 7T 2 w1 W@ W wEd W g
o (c) IR wiFfos fagm & faftm &= ¥ forma
(@) i R R 1 geT @S B
() Faa 1 3R 3 i e
(d) ¥’ ey ™ T
() FFw2 33 . Teure ® 6 @ wen Tifve v @
@@ 1,23R3 T =1
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58. Amitabh Bachchan was recently 61. Which one of the following pairs is not

conferred with the prestigious Dada correctly matched?

Saheb Phalke Award. Who among the

following was the first recipient of (a) Kuddapah-kar : Rocky wastelands

the award?

(a) Prithviraj Kapoor (b) Nancai : Wet fields

(b) Devika Rani (c) Puncai : Dry fields

(c) Sohrab Modi

(d) Naushad (d) Tottakal : Garden lands
59. The famous Mughal painting, depicting

Jahangir embracing the Safavid king 62. Which of the following rulers were

Shah Abbas, was painted by which one identified through matronymics (names

of the following Mughal painters? derived from that of the mother)?

(a) Abd al-Samad
(b) Abul Hasan

(c) Dasavant (b) Videhas of Mithila
(d) Bishandas

(a) Mallas of Pava

(c) Yaudheyas
60. Which of the following statements about

‘Mughal Mansab’ system are correct? (d) Satavahanas

1. ‘Zat’ rank was an indicator of a

Mansabdar’s position in the .
; : : 63. Which one of the following statements
imperial hierarchy and the salary of

0 S about the famous text of Panchatantra

FaEtT is correct?
2. ‘Sawar’ rank indicated the number

of horsemen the Mansabdar was

(a) 1t is a philosophical text reflecting
required to maintain.

the debates of the time and refuting

3. In the seventeenth century, rival positions.
Mansabdars holding 1000 or above
‘Sawar’ rank were designated as (b) Itis a text ushering in linguistics as
nobles (Umara). a formal science.

Select the correct answer using the code (c) Itis a text discussing developments

given below. in various spheres of natural

(a) 1 and 2 only sciences.

i iy 2 S8 (d 1t is a text showing through
() 2 and 3 only illustration what should and
(d 1,2 and 3 should not be done.
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64. URY IR Sig FaE (o) = vl w@ T 68. el dw amdiE uftaem #, 91 FW Il § 3

q-3THfaH FH (F2h) & Fiqd: wel | A o &7
(a) S BT HIUT IR IR (I=AT) (@) 3FaIoEHREdR fm &
(b) @ THfA R AMfdes IR (b) A

(c) @IS I, QT THfA 3R I
(d) T I, T IAHT 3R MR IR

(c) 3 IF-TE VA (FIR)

(d) EEREE AR
65. el % Frefafea § 4 frg wgg o geuff sa%
Wl SRaf T=TeT % wq o T 87 69. fafead # @ fFw a1 #§ s wf A
STIIYH [T 978 STl _Y
(@) TEYUEE 3R FYRA
(b) TerEam iR udf (@
(c) iE iR iR e (b) Teereie
(@) e T ik el (c) Sefraret
(d) R
66. T=fcified & & F-wt o0 wgsht gt §7
(@) FOREN 3R Hfeaea am 70. YT MRA™ Sk v g #, Fefefaa § @
R SO S D gﬁ;qqﬁ@ﬁ(ﬁ)ﬁwqwmmm
(c) T SR STqEe U 1. 3 3aw @ 9Ra ¥ TR 8
(d) G ge dmeR (AR fw Rw) ik 2. % W Fates e § s )
FihS °RT 3. d9r SN F T wra # 3 v ufRE
il
67. mﬁﬁmﬁt@ﬁ/ﬁaw-ﬁﬁaﬁaﬁaﬁ A3 R ¢ 2 W @ IR R
Figr Hand §7
(@ 1,23R3
(@) 1
(b) 2 (b) Faw 2 3R 3
© 3 (c) Fas 1 3R 2
(d 4 (d) %ad 1
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64. Geomorphic factors influencing plant and 68. In the Hadley cell thermal circulation, air
animal distributions are rises up and finally descends at

(@) slope angle and relief only (a) intertropical convergence zone

b 1 : :
(b) slope aspect and relative relief (b) doldrums
(c) slope angle, slope aspect and relief : ;
(c) subtropical high-pressure cells
(d) slope angle, slope aspect and

relative relief (d) equatorial troughs
65. Which one of the following groups of 69. Which one of the following soils is
cities does not have Sclerophyll as characterized by very high content of
its natural vegetation cover? organic matter?
() Valparaiso and Cape Town (a) Vertisol

b) Li
(b) Lisbon and Perth (b) Histosol

(c) Los Angeles and Adelaide
(c) Gelisol
(d) Las Vegas and Queensland

(d) Spodosol

66. Which of the following are warm ocean

currents? 70. Overseas Indians can exercise franchise

{a) Kuroshio and California Current in an election to the Lok Sabha under

which of the following conditions?
(b) North Atlantic Drift and Brazil X
Pt 1. They must be citizens of India.

2. Their names must figure in the
electoral roll.

(c) Canaries and Benguela Current

(d) West Wind Drift and Falkland : 2
3. They must be present in India to

Current
vote.
67. In India, how many States/Union Select the correct answer using the code
Territories have more than two given below.
international boundaries?
(@ 1,2 and 3
(@ 1
(b) 2 (b) 2 and 3 only
I(C) 3 () 1 and 2 only
(@ 4 (d) 1 only
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71. Prafifen & ¥ - o Rdwa sgsEm
WA AT 6 T R7

() T TRER F FAHR A I W A
e o (%) 7 R

(b) IETATA H el HA A IR IR A€ F
TS 39 A F widfem §)

(c) wfa fafrcarem snsau & fore s fifdm
it we ot e A e feen
S|

(d) I8 Q1 9fe 9RER € 10 /@ 1 @™
TSRO T A B

72. Fefafaa # @ F9-2 999 fem F 9] @
™ Sa 87

g (Freagran), TuETE, IqEEa 3R
qTfeRetor

T, IcATEHdT, AuIfhel 3R grofiar
(edrcarr)

IqEHar, for, saaTE 3R g

oW, IqEhdl, GHTEYE 3R 9=

(@)
(b)

()
(d)

73. dfaum (8edai www) IffEm, 2002 ¥
wen ¥, el & @ e @ =) @
Faeg & ®9 § wffera fran w27

(a) =afwma 3R amfes afegar (Brameem)
A IpEal & forg wam s

: (b) 6 3R 14 =¥ H Y F i 3R =
! e ¥ ATW W&\ F=E

(c) T&at ik s=t & weaw & fore w1 =
(d) wifa 3R G99 H qgET
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74. YRG &% Glaum w1 fefafed § @ SF-w
IR, AR TR A frdt =3fe At wn =
27

(@) =BT 20
(b) IR 21
(c) =37 22
(d) IF=e 23

75. ¥RA A g 0 % =R A, Frafefad s w
fomm $ifsg -
1. fafs@ i =+t geer % SR %y @i
Rreufas™ & YR | gg=™= a1 21

fafim i % i@ WR & wer 3R
Rreafagm & 18 et faftrar =€ 21

faftm 7 ft wwm g dw Q@
IMEEY § TH Affa R @ |
wHEAH fowfa g8l

I # | BH-T1/A Y G B/87
(@) Fad 1

(b) Haa 1 3R 2

() Fad 3

(d 1,23R3

76. fr=fafad & & form Pl (Rrewwmen) w@ @
I e IR T Hew (i8) @ I Ty
a9 iR oy A faftm e sfedl & ¥
o A7

(@) FF AR et werfeai
(b) TSI § Gae!

(c) =g wRIfeat

(d) weifraE i qeifeat
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71. Which one of the following is not a
feature of the Ayushman Bharat
Scheme?

(a) There is no cap on family size and
age.

(b)) The scheme includes pre- and
post-hospitalization expenses.

(c) A defined transport allowance per
hospitalization will also be paid to
the beneficiary.

(d) The scheme provides a benefit
cover of ¥10 lakh per family.

72. Which of the following are considered
to be the four pillars of human
development?

(@) Equity, inclusion, productivity and
empowerment

(b) Equity, productivity, empowerment
and sustainability

(c) Productivity, gender, inclusion and
equity

(d) Labour, productivity, inclusion and
equity

73. Which one of the following was added
as a fundamental duty through the
Constitution (86th Amendment) Act,
20027

(a) To strive towards excellence in
individual and collective activity

(b) To provide opportunities for
education to one’s child between
the age of 6 and 14 years

(c) To work for the welfare of women
and children

(d) To promote peace and harmony
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74. Which one of the following Articles of the
Constitution of India protects a person
against double jeopardy?

(a) Article 20
(b) Article 21
(c) Article 22
(d) Article 23

75. Consider the following statements about
Stone Age in India :

1. Different periods are identified
on the basis of the type and
technology of stone tools.

2. .There are no regional variations in
the type and technology of tools in
different periods.

3. Stone Age cultures of different
periods evolved uniformly in a neat
unilinear fashion all over the
subcontinent.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2 only
(c) 3 only

(d 1,2 and 3

76. From which one of the following factory
sites were limestone and chert blades
mass produced and sent to various
Harappan settlements in Sindh?

(a). Sukkur and Rohri Hills
(b) Khetri in Rajasthan

(c) Chagai Hills

(d) Hills of Baluchistan
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77. $f0 RER-sa-goRfa St @ w3,
1757 1 94 Fdt B, Fras g fordt wh
??

(@) QA S
(b) HRW @H
(c) T géH
(d) TH HIE T

78. FH Ig GHFAT o1 % 1836 F wrdg Ty H
‘e R wwife % o whee w@w =@
atfiepeq (fesga) fi?

(a) @TE Aldhcie
(b) @TE UHEA
(c) < HfAm

(d) IS T

79. ‘TSI B A TTen fRe gy Y S off?
(@) &Y TR gR 1839 &
(b) HE T% V9 gAT 1857 §
(c) ¥A&F FHR 39 gRT 1850 &
(d) TWHHY SR g 1840 &

80. WRd ¥R Yo THo Te ¥ ¥ Weel W g
B-fen &= w1 w2 W R own
q17

() Toz fosm (Tmm Z133ms)

(b) weft fosta (efrdhe grgers)

(c) < fasa (TR grReTs)

(d) TEw (Sirel S foem (amsea geeE)
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81. R &l FI TH AT Iewa &7
(@) Tafem
(b) <EE
(c) STEUTEA TSu
(d) TS

82. 924 IwEH JEd ([WSHN) ¥ wddw
IFRET FR fen it ot F R g N
srfeemfien wfafd fafelaa & @ Sw- 27

(@) ‘Terge &4 R

(b) GR e’

(c) ‘Teh =7’

(d) TR R iw g

83. THAITd MershIR e forass grr e sman &7
(@) foa e Afde Tgm wewm
(b) FATEEE N FEREEHE T
(c) FEM Tha A6 Psife
(d) I8 HiftATtaivere AHESTH

84. “Tieh Wrer ek’ el R 27
(@) =qFTh
(b) EAfCES
(c) Torg
(d) A

85. Frefflaa & & @\ b o W@ uEd
=Rl % &9 § 9§, e iqa: suh &
U YA A AT 1 FRO §17
(@ %=
(b) ww
(c) gameR (i)

(@) =4
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77. The work Siyar-ul-Mutakherin, which
describes the Battle of Plassey, 1757,
was written by

(a) Salabat Jung
(b) Qasim Khan
(c) Ghulam Husain
(d) Ram Mohan Roy

78. Who believed that the Russian designs
were ‘an imminent peril to the security
and tranquility’ of the Indian Empire

in 18367
(a) Lord Auckland
(b) Lord Palmerston
(c) Lord Canning
(d) Alexander Burnes

79. The “Tattvabodhini Sabha’ was
established by
(a) Devendranath Tagore in 1839
(b) Keshab Chandra Sen in 1857
(c) Akshay Kumar Datta in 1850
(d) Dwarakanath Tagore in 1840

80. What was the code name given to the
first ever tri-service military exercise
between India and USA?

(a) Lion Triumph

(b) Elephant Triumph
(c) Tiger Triumph

(d) Bison Triumph
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81. Naropa’ is an annual festival of
(a) Sikkim

(b) Ladakh

(c) Arunachal Pradesh

(d)

82. Which one of the following is India’s
official entry for the Best International
Feature Film category the
92nd Academy Awards?

Nagaland

in

(a) Bulbul Can Sing
(b) Super Deluxe
(c) Gully Boy -
(d) And The Oscar Goes To
83. The Global Goalkeeper Award is given by
(@) the Bill and Melinda Gates
Foundation
(b) the United Nations Environment

Programme
(c)
(d)

the Kellogg School of Management
the World Meteorological Organi-

zation

84. ‘Gandhi Solar Park’ is located at
(@) New York
(b) Vladivostok
(c) Thimphu
(d)

85. Who

Houston

among the following was the first

to arrive in Africa as traders that
eventually led to European colonization
of Africa?

(a) French

(b) Spanish

(c) Portuguese

(d) Dutch
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86. Hicw % fafereR Shfafn, e samee 89. fr=fuflaa # & Fm-wh vy ik woik A W@

TEE gHafid A e 8, wa R 27 T T 7
(@ T (@) ¥
i 14 (b) T
(c) IR
(e (@) A
(@ T
90. 7 TR & & Wi # fy=fofea & ¥ frg
87. i e Rifie (o e Teio) 3 Wy &, . s b
frefafaa & & B9-1/3 Foa wd 2/%7 (@) SRA-FAT (3E1-Fd)
1. o Mo Teo F YA Hrerbr A  (p) Hr-fossdt (wre-fssa)
2l (c) i
2. Hlo 3Ze TAo 82 WH-&H1 ¥ yR=eTd d) ITEF
BT & S WA & g wida Tt & e o
R o1 frfefen § ¥ Few wgede W wwh
3. o ko Telo fra N wHAn w 7 o flo o AT T 0 a8 W 341 T
HIIAT I HYA R | o1 T saa W eiftw U’ % w9 § fen
A fog T o 1 S T I R i
(@) 3IT=D3 352
(@) Fad 1
(b) A=< 359
(b) Fad 1 3R 3 () =T 356
(c) et 2 3R 3 (d) T 368
(d 1,23R3

92. ITWT 32 F N I=aH AT BRE MuR
W A % A 71 R Hepat 27

88. 7w WA & fr=fafen § ¥ #a-w1 oy R (@) =@ =afe & o= (qR) =EeE A

frreren &7 IR (I9TF) 9T Gkl B

(@) 39YHA (39-3Tmhfew) (b) T faaTRa et 0 sita 6 SR =R

(b) EEAETHE Yo oS e (c) o6 forelt oft 3@ stftrerm w1 gt el gan
?

o, S (d) % Tfeweral 3 WS AW (AR) W

(d) 3T AETE <o sy T ggfua fe & g |fn ad 1 2
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86. The College of Military Engineering 89. Which one of the following is not among

affiliated to Jawaharlal Nehru the principal languages of Jammu and
University is situated at Kashmir?
(@ New Delhi (@) Urdu
(b) Gujari
(bp) Dehradun
(c) Koshur
(c) Nainital (d) - Monpa
(d) Pune : il ol
90. The major part of Central Asia is
dominated by which one of the following
87. Which of the following statements with language families?
Iega;d to Coal India Limited (CIL) is/are (@) Indo-European
ruer:

(b) Sino-Tibetan
1. CIL has its headquarters at

Kolkata. (c) Austric

2. CIL operates through 82 mining i N

areas spread over twenty provincial

91. Which one of the following Articles was
States of India.

defended by Dr. B. R. Ambedkar on the

3. CIL is the single largest coal- plea that it would be used as ‘a matter
producing company in the world. of last resort’?

Select the correct answer using the code (a); ‘Axticle 352

given below. (b) Article 359

(c) Article 356
(d) Article 368

() 1 only

(p) 1 and 3 only
92. What is the ground on which the
Supreme Court can refuse relief under
(d 1,2 and 3 Article 32?
(a) The aggrieved person can get
remedy from another court

(c) 2 and 3 only

88. Which one of the following climatic types
is found in Central Spain? (b) That disputed facts have to be

= : investigated
a et
(@) Subarctic () That no fundamental right has

(b) Mediterranean dry hot summer been infringed

(c) Subtropical Steppe (d) That the petitioner has not asked
for the proper writ applicable to

(d) Humid continental warm summer his/her case
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93. W U R e Igw e R e
A1 8?7

(@ 9 I fawm @ AW SR erafe
R Gagq faam

(b) &% IM faum & I@m iR oraRw
IR Fagq fawm

(c) oW IR Meifies @y fawm @
i e st

(d) T I favm @ e 3am R

94. WA ¥ ygel qREm s frm ad nfdg fran
™ AqT7

(@) 1949
(b) 1950
(c) 1951
(d) 1952

95. T ¥ frua dWiqum @ § w@ @@ o1 B
26 SHall, 1950 W WRA IFafE]
(frvemsimar) % Sfiameprer # wfae & @ o?

(a) o dto 3Ro =T
(b) SETEE 6w

(c) wETeHT Tieh

(d) TEo do gl

96. 3 1 Al Tl & 9 et e ¥ oo
(9) # fola o1 &t = =g f 9k
FT FHEATd! 87

(a) i AftEpTREn
(b) affed (Wew) st
(c) wator siferemrican
(d) WTEHR AR
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. JUEER fi e wemEeR 9Reg (EAC-PM)

1 A TH A BH 87
(@) @A do ared
(b) Tooh I
(c) =TfRET Maa
(d) wifse femra

98. fewwn form 3w i g woeh R7

(@) UifrEaM
(b) ¥
(c) e
(d) AU

99. YR a1 ¥ w1 foogTR weaie Afw

Tee, ol T @ & R Ay fen oo,
el o 27

(@) T 3 FHEHR
(b) STEEA oW
(c) FAleH

(@) T wem

100. ¥H-2, Sl B @ # FAlesh ¥ gHewEd goql

o, 1 917

(@) @ fomm
(b) iR
(c) uREE femm

(d) wHa-ifRd (T=ifed) SEE 9
(3RS Tt =diehen)




93. The Ministry of Heavy Industries and
Public Enterprises consists of

(@) the Department of Heavy Industry
and the Department for Promotion
of Industry and Internal Trade

(b) the Department of Public
Enterprises and the Department
for Promotion of Industry and
Internal Trade

(c) the Department of Scientific and
Industrial Research and the
Department of Heavy Industry

(d) the Department of Heavy Industry
and the Department of Public
Enterprises

94. The First Delimitation Commission in
India was constituted in

(@) 1949
(b) 1950
() 1951
(d) 1952

95. Who among the following stated in
the Constituent Assembly that on
26th January, 1950, India was going to
enter a life of contradictions?

(@) Dr. B. R. Ambedkar
(b) Jawaharlal Nehru
(c) Mahatma Gandhi
(d) S. P. Mukherjee

96. The power of the Supreme Court to
decide in the case of a dispute between
two or more States is called

(a) original jurisdiction
(b) inherent jurisdiction
(c) plenary jurisdiction

(d) advisory jurisdiction
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97. Who

among the following is the
Chairman of the Economic Advisory
Council to the Prime
(EAC-PM)?

Minister

(a) Ratan P. Watal
(b) Bibek Debroy
(c) Ashima Goyal

(d) Saijjid Chinoy

Hilsa is the national fish of
(a) Pakistan
(b) India
(c) Bangladesh

(d) Nepal

The Vijaynagar Advanced Landing

Ground of the Indian Air Force, which
was reopened recently, is located in

(@) Jammu and Kashmir
(b) Arunachal Pradesh
(c) Karnataka

(d) Himachal Pradesh

100. Rustom-2, which crashed in Karnataka

recently, was a/an
(a) fighter aircraft
(b) helicopter

(c) transport aircraft

(d) unmanned aerial vehicle

[P.T.O.




101. v (1) Pusfim f&fw s, el s, 105. FX FHiyH (1882), & wra # foian #i f&ufa

T 3R ursele Wit A, wHET g A7 w1 gago HH % fou fuifa e m=n o,
(@) TR R B
(b) =7 (@) Taatmem (FfaRid) s =1 fy
T
(c) Uit
(d) wr=h (b) 1854 i fagfy (Jwor) =i w fF
(c) Wt fign | ftes 9@ (W) 3@ §¢
102. ¥Rd ¥ G =Ee™ H T (3If) 51 andq 1854 i fagfy =1 anda
Frfefaa 3 @ fra afufem/smm g e
™ oT? (d) Toenm % wEmA AW Wl i A=Al

(a) WG SR ffem, 1919 #

(b) o IR (et whEF), 1923

(c) ¥Ra W&R AfufEm, 1935 106“31@%%3@'@?3{%@%@“%
A H ol fFas 9| B j?

(d) s ufeg SAfafEm, 1909

(@) ¥ i GEq
103. a1 oy’ N wwHw seEERE § 1914 H

fe 7 (b) T RuFEd
(@) TEET FI® (c) T=a Pt smm
(b) o Fo TrER (@) s Fate s
(c) S Fremt
(d) Ho o Ty j
107. WRd & ®fagM i 119 Jgge s o=
wiferat =t T et 27
104. &4 (cf&or) 1 ¥tk Ts9 Snfterits &9 &
Rt wu | e o wffifaa gen? (@) §9 3R 759 Fumdea
Lok g (b) T fyETeS iR T
(b) 1950
(c) TR Frm IR v=Ea
(c) 1949
(d) 1947 (d) T G AR U=
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101. The maiden trilateral naval exercise 105. The Hunter Commission (1882)
involving India, Singapore and Thailand appointed to survey the state of
was held at education in India

() - Port: Blair (a) deprecated University education

(b) Chennai
(b) overruled the Despatch of 1854
(c) Panaji
(c) endorsed the Despatch of 1854
(d) Kochi with greater emphasis on primary
education
102. The creation of a Federal Court in India
was advocated by which of the following (d) criticized the grants-in-aid system
Acts/Commissions? of schooling
(@) The Government of India Act, 1919
(b) The Lee Commission, 1923 106. The ?ower to le.gislate on all mattc'rs 5
relating to elections to Panchayats lies
(c) The Government of India Act, 1935 with
(d) The Indian Councils Act, 1909 (@) the Parliament of India

103. Who founded the ‘Seva Samiti’ at (b) the State Legislatures

Allahabad in 1914? :
(c) the State Election Commission
(a) Hridayanath Kunzru

(d) the Election Commission of India
() G. K. Gokhale
(¢) Shri Ram Bajpai
107. The 11th Schedule of the Constitution of
(@) T. B. Sapru India distributes powers between
104. The State of Hyderabad in the Deccan o the UGS | ond. TRl T
officially acceded to the Indian Union Legislatures

in the year 2
(b) the State Legislatures and the

(a) 1948 Panchayat
(b) 1950 (c) the Municipal Corporation and the
(c) 1949 Panchayat
(d) 1947 (d) the Gram Sabha and the Panchayat
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108. UYUHd % TEAYT & HOY H WRG & Glum &
Iyay, Frefafea & @ ffe w6 759 W @1

& B §7
(@) T (b) P
(c) EH (d) T

109. F=fifaa & @ F=-d 78 wen g § T

rereh 27
(@) e (b) R
() TH (d) =

110. THF 5@ FAHEH (FTHE S THeH/NWA)
=+l foa 87

(@) TG
(b) TEETE
(c) qaTe

(d) TSHAEl

111. @ W=H %A @ AR A §Q AN H e
(7) =1 w@ gen Fafafea & @ Fw-w

??

(@ T smwm, Asm o, fEw s mm,
Fratem smm

(b) TratEm 3w, A sE, fam am,
e s

(c) A v, fate amm, fom ami,
o smim

(@ Tew s, fom amm, Qe s,
Fratem smm
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112. ifg® "ugr ARBRI (IPRs) % dsy § Hifg
Frequr (agafiertor) foraent arféea 27

(@) faft w@ = does
(b) Togm IR Menfiehi fasm
(c) JEM AR Arals AR o fasm

(d) wFE gEeA foeE TeeE

113. @R a1 YOell % Y (AYUSH) w98 &
T @ R (Fdfian) Fafafes & @ 7 e
™ RY
(@) T
(b) Ta=
(c) wran-foaq
(d)

114, g% TP VWU HEHA  (TEeE I
AT Yum) % fag vra § fefafaa 3
?A 5 Fes Ao (Aea o) s=mn @
44

(@) TATERO, 99 & SoraTg UREdd Sared
(b) ToTm i dreNfreht e

: (c) 9= fogm v

(@) T& HATTE

115. 2011 H SFOF & JIER, WRd ¥ W &,
o8 wardt (3tiaRer) 7M1 S Geha @ srefq S
AW TER A e ¥ o Rt e wm w

@ T §, o gfewrad (ermw) e 27
(@ 25% (b) 35%

(c) 45% (d) 55%




108. The provisions of the Constitution of 112. The formulation of policy in respect to
India pertaining to the institution of Intellectual Property Rights (IPRs) is the
Panchayat do not apply to which one responsibility of

of the following States? (@) the Ministry of Law and Justice

(a) Meghalaya (b) Tripura (b) the Department of Science and
(c) Assam (d) Goa Tortmclony
(c) the Department for Promotion of
109. Which one of the following rivers Industry and Internal Trade
does not drain into Black Sea? (d) the Ministry of Human Resource
Devel t
(@) Volga (b) Dnieper e g
(c) Don (d) Danube 113. Which one of the following is the latest

addition to the .AYUSH group of

- - health care system?
110. The National Water Academy (NWA) is

located at (a) Unani

(a) Dehradun (b) Siddha

(b) Hyderabad (c) Sowa-Rigpa
(d) Reiki

(c) Bhopal

114. Which one of the following is the nodal
agency in India for the United Nations
Environment Programme?

(d) Khadakwasla

111. Which one of the following is the correct

sequence of formation of the (o) The. Mimitry  of DBadenment,

Commissions starting from the earliest? FError anablate CINee

() The Ministry of Science and

(@) Finance Commission, Planning Technology

Commission, Investment Commis-
sion. Election Commission (c) The Ministry of Earth Sciences

(b) Election Commission, Planning (d) ‘The Misistty of Home Afinws

Commission, Finance Commission, 115. According to the Census 2011, in India,

Investment Commission what is the percentage of people

(c) Planning Commission, Election (approximately) considered to be
Commission, Finance Commission, migrants (internal), i.e., now settled in
Investment Commission a place different from their previous

residence?

(d) Investment Commission, Finance
Commission, Planning Commis- (@)’ 25% (b)  35%
sion, Election Commission : (c) 45% (d) 55%
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116. 1M #fifg 6 w% FR 7oy oaw i § €400 118. faw W Rem (s ew 2), 2019 =

yiafeT warh }1 SQ it & wF e A o A, Fr=faRaa #§ @S- 3w @7
(FfifreR) & w9 § e A w1 ST e g,

w&l 30 wfafm €700 i ® ¥ yEw (@) Fo THo To

QT | 98 F A9 & &9 F @ 8 =@ @

H AN T FN TR N ww @ (e (b) WA

arra) Freafafaa & @ Sw-d {7

(@ €1,100 (b) €700 () &4

(c) €400 (d) €300 o

117. -1 = -1 & @9 gafm i 3k
g % = Ry Tg g2 = @ W e s

gfe : 119. T weiea (BRICS ®f¥R), 2020 i I
Traes gr1 <t smoh?
-1 H=-11
(SR wE=AT) (Fersrwam) (@) ¥
A o s 1. o o (aeg) A sk daa
Teh IqTeH SR R st (b) =
B. THIfYR 2. TH-W YAl YA: GHEY
ReaiEee) I A el 39 e s
i e ol (d) WIS
C. uHIftrsa 3. faufeq seudt it fosht wgar-
yferfran ¥ Iqreh! gR R st
D. JFeqifteh 4. TH-9 It i forsh) wiga-
(shfemiateh) Y IereFt TR FRaT ST 120. WRd @R 4 TA & ¥ WER agwv °od *
T W T 8w JEHR Tia (weenfia) fran
ik ‘ 21 7% qoR Fra 8 & mem ¥ R 37
ki B CrD
R ¥ii.8 (@) WRa &t THar 3R r@ved
B KSR D
4 1 3 2 (b) maﬁ(m@;ﬁ[
@ N o8 -C . D
2 1 %% (c) umISE HR
WA B C B
2.3 (d) afta
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116. Suppose an agricultural labourer earns 118. Which one of the following was the host
T 400 per day in her village. She gets a country for World Tourism Day, 2019?
job to work as babysitter in a nearby
town @ ¥700 per day. She chose to

: . (@ USA
work as agricultural labourer. Which
one of the following is the opportunity
cost of the agricultural labourer? (b) India
{a) ¥ 1,100 (b) ¥700 () Whskia
(c) ¥400 (d) T300

(d) Canada
117. Match List-I with List-II and select the
correct answer using the code given

below the Lists :
119. BRICS Summit, 2020 will be hosted by

List-1 List-IT
(Market (Characteristic) il
structure) i
A. Perfect 1. Only one producer :
competition selling one commodity (b) China
B. Monopoly 2. Few producers selling
similar or almost similar (c) Russia
products
C. Monopolistic 3. Many producers selling (d) Brazil
competition differentiated products
D. Oligopoly 4, Many producers selling

similar products ;
120. The Government of India has recently

Code : constituted a civilian award in the
name of Sardar Vallabhbhai Patel in

(@ A B the field of contribution to

H
w
- 0
o g

(a) unity and integrity of India

(b) A C D
4 1 3 2
(b) art and culture
(e A B C D
- 4 3 b (c) social work
(d A B C D
2 3 1 4 (d) entrepreneurship
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